A

12 LEESIA D120l &bt

S 0l & AHEY I

Al A

SA 10 A
A ANZSE2ASH(LBSSHE/LBHEE)
Rl GHSEYIM =& (SH9 H2)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
J| 240l &1k 22,601,879 22,188,805 413,074
< 5,000 5,000 0
Al 22,5%,879 22,183,805 413,074
ANESeae|yeH (L3S /deey) 869, 144 813,080 56,064
< 5,000 5,000 0
Al 864, 144 808,080 56,064
SEHAY A = 569,904 695,740 N125,83%
A2IE StLE Bl DS S8 2Y 52,380 60,000 N7,620
201 Ler23 | 52,380 60,000 N7,620
03 A2 I 52,380 60,000 AT7,620
OAlgIDt GtLE &= DlefEls S8 29
52,380,000 52,380 60,000 AT7,620
AR 2 FRES = 506,444 624,660 ~118,216
201 eer23| 43,444 161,660 ~118,216
01 AtR2t2l] 42,444 160,660 A118,216
OLNEyEd 4 E9
892,000& »23] 1,784 0 1,784
OAIEE0E AL HIZ - &2k o0& 0 110,000 110,000
Oglod 29 HIE 7 2,000,000& 2,000 0 2,000
02021-2022 Zx=HZ MIA - gt o0& 0 12,000 12,000
usgs 243t 239,840 76,840 163,000
2Uel SSAE=X WF 74,000 20,000 54,000
301 LEENS 74,000 20,000 54,000
09 QB =FH A 74,000 20,000 54,000
O=UHe nJREA =3 74,000,000& 74,000 20,000 54,000
SR KHHZAIRE 822 2= 126,020 43,020 83,000
201 Ler2 | 12,020 9,020 3,000
01 At22telt] 7,020 4,020 3,000
OzHZAH oAl HZ 1,000,000 1,000 0 1,000
OsgH| 2,000,000& 2,000 0 2,000
202 Ot 38,000 19,000 19,000
01 =LH0d 5,000 3,000 2,000
OXHEAI 2¢ nE22 20|
3,500,000 3,500 1,500 2,000
03 =20 33,000 16,000 17,000
O=2 WFRZA &2 29,000,000 29,000 14,000 15,000
OHM273] SHSHHEZAIZ|Q =4
4,000,000 4,000 2,000 2,000
301 LEENS 20,000 15,000 5,000
08 212+01=2|044| 20,000 15,000 5,000
O=xAl HEE 22 M AI(0I= Dailé
[, 22 QUILAI, 2 EFA) L2
20,000,000 20,000 15,000 5,000




S J1E oA
M NS LSS/ /LBHEE)
Helr nsgyd 243 (SH9 H2)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
401 AIEHIZL 2 OHY| 56,000 56,000
01 Al&HI 56,000 56,000
OMIHEAISEH 0l SA
50,000,000& 50,000 0 50,000
OXHEAISE 0I™ ZAL AAIEHESA
6,000,000& 6,000 0 6,000
=M KNOHEAIR 45018 1F 32,600 6,600 26,000
301 Et2 &= 31,100 5,100 26,000
09 IBI=ENYI 31,100 5,100 26,000
Oge QUDIAl B A= 31,100 5,100 26,000
0 =8&H| 100,000& * 180 18,000 3,000 15,000
o AIZ 04t 500,000 500 0 500
o Al 70,0002 180 12,600 2,100 10,500
ZESENXE =8 2 A 2l 28,000 12,700 15,300
(= 5,000 5,000 0
Al 23,000 7,700 15,300
JRASENXE ZR =4 5,850 0 5,850
201 LBt 5,850 0 5,850
01 AlR2telHl 5,850 0 5,850
OLAEENXE d&ds WE 850 0 850
o ZAZ(12) 650,000 650 0 650
oAHI(SH|, =utHl, AlHl )
200,000 200 0 200
OZAELENXE 2822 M
5,000,000 5,000 0 5,000
2AUASENIE &8 EL2ES TM 5,000 0 5,000
201 LB2 ] 5,000 0 5,000
01 AFR2t2ltl 5,000 0 5,000
OLASEIXT &Y JIE E2H
5,000,000& 5,000 0 5,000
HINOI RHINE F& 7,150 2,700 4,450
201 Zet2& ] 2,550 1,700 850
01 AtR2telbl 2,550 1,700 850
O MEd A5t us 850 0 850
o ZAZ (1= 650,000 650 0 650
oAHI(SH|, =], Al S)
200,000 200 0 200
202 044l 2,000 1,000 1,000
01 =LHOALI 2,000 1,000 1,000
EZ0HI 2,000,000& 2,000 1,000 1,000
303 L= 2,600 0 2,600
01 Z&2 2,600 0 2,600
OFMEY 2324 A3
2,600,000 2,600 0 2,600




A JIRI0ADt
Y ARZHBILSH(LYDD

Sl AN FQAH ARFA(J&0AD

SA-3Y - SRA(SAH) - MRAY - BES Off &4 & A HunsZ
ANE =QAIE ARFZX(J|2 04Dt 31,400 27,800 3,600
S22 (0l &) 14,400 10,800 3,600
204 Xt FH| 14,400 10,800 3,600
03 SEH=REHI 14,400 10,800 3,600
OSHYS +s2SHI(0)4)
150,000&x8Z«12& 14,400 10,800 3,600
HAENE 22 (LIS /XL - WEXH) 39%,004 286,504 109,500
Aol M HAE Ha2F 396,004 286,504 109,500
J2Es3Hl X 195,000 120,000 75,000
201 22 80,000 55,000 25,000
2 ZZ2| 30,000 5,000 25,000
OBZ2HIOIZZE) 30,000, 0002 30,000 5,000 25,000
207 A2 50,000 0 50,000
01 22 EAH| 50,000 0 50,000
OoTEAH (DIZRE) 50,000, 0002 50,000 0 50,000
Z=0IF 00K 29 28,120 27,620 500
201 2Eer23 ] 22,820 22,320 500
01 AFS2teltl 22,820 22,320 500
Oollastn 2 500,000 500 0 500
S HM2F 169,264 135,264 34,000
207 HA=1IHE 34,000 0 34,000
EEERT] 34,000 0 34,000
OAN&BRIRY ZXAC B8
34,000,000& 34,000 0 34,000
OBl Bl (018181 /0118181 3,500,000 3,383,800 111,200
o1l 3,500,000 3,388,800 111,200
oyl bl 3,500,000 2,500,000 1,000,000
801 GilHIHl 3,500,000 2,500,000 1,000,000
01 2BH0iBIL] 3,500,000 2,500,000 1,000,000
ool 3,500,000, 0002 3,500,000 2,500,000 1,000,000
HERES 0 888,800 A888,800
801 oildIHl 0 888,800 888,800
B UHRRES 0 888,800 888,800
OURRES 0= 0 888,800 888,800
AL AUI(JI=0lA) (D1EH/DIEH 29,500 26,200 3,300
JI=22&d| 29,500 26,200 3,300
JI=3&H| 29,500 26,200 3,300
201 2E2 & 24,500 21,200 3,300
01 Al 22l 24,500 21,200 3,300
O=M2Y ARB2I 24,500,002 24,500 21,200 3,300
HEES(OI=0IA D) (LBBDHT/ LB - HEX) 17,807,231 17,674,201 133,010
LHEHe XI= 17,807,231 17,674,221 133,010
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HRsOIEMADN) (L SSHE/NLHE - HEXH)

LHRHHXI =

SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
AMgZe| s dE 29 17,807,231 17,674,221 133,010
701 JIERI NS EES 17,807,231 17,674,221 133,010
01 JIE=I AN ES 17,807,231 17,674,221 133,010
OANd2e|SHEE N dES
17,807,231,000& 17,807,231 17,674,221 133,010




